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ENGLISH VERSION

Attempt any one in 1000 words :
(1) Explain main, canonical and basic class with example.
OR

(2) What are 1solates? Explain in short based on Colon
Classification System.

Attempt any one in 1000 words :

(1) Describe phase relations based on Colon Classification
System.

OR
(2) Explain systems and specials with examples.

Attempt any one in 1000 words :

(1) Define indexing and explain Chain Indexing with
example.

OR

(2) Explain the importance of subject cataloguing and state
its various types.

Attempt any two short notes :

(1) State the problems of alphabetical indexing.

(2) Explain post coordinate indexing with example.
(3) State the usefulness of SLSH.

(4) State the evolution of MARC and components of MARC
format.
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5  Attempt following questions in one or two lines

ey
)
3)
4)
()
©6)
()

Difference between field and sub field.
Name any two web catalogues.

Illustrate subject headings.

Explain chronological device with example.

When i1s super imposition device used?
Types of ISBD

What 1s facet formula?
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